SANDVIK N&IFTTEASOY CD-063J .
@

RLIELEEEIC,. RLWIBEEH
High cutting speed and long tool life.

=>ERINTEEinzRIR, hig%zone!

Overwhelming tool life, avoiding breakage!

ZNTNOWHIM TREDMEEZ FiE

Best performance in each work material.

S>TREIFICEIR U S F X U —/A5E 018

Geometry/edge treatment adapted to each work material



CoroTap™

¥ R

CoroTap™100 CoroTap™200
ARU—hrovF RAV KIS
Straight flute Spiral point

MY i' 1

.Aulllil-il'

CoroTap™100

e ANL—bIVT

Straight flute tap

o E(C, HHDKSTR

£ < AR WVIREIR (e

For tapping in short-chipping materials,
e.g. cast iron

eENNEIEF Y ARDImAIC
EBNnicitetzRE

Provides superior performance in both
blind and through holes

® BT EICEIHLHAICfER

Tap flutes support coolant supply to cutting edge

CoroTap™300

O ANISIWI v
Spiral flute tap

ot < FIF
ANASILTIL—BICEKDT
TN SHEH
The spiral flutes evacute the chips
upwards through the hole opening

O FFWIRADRZA ATV 3y

The best option for blind holes

CoroTap™300
ANAIIWI Yy S
Spiral flute

N

iy,

A 1T NP

CoroTap™200

oRAVKIWTS
Spiral point tap
ot K FERANBLHLET

Pushes the chips forward and down
through the hole

o &Y NAICER

For through holes

CoroTap™400

5y IHYIHITIF R <
RUWZERLET EEY v )
Thread forming tool (in contrast to
thread cutting)

o HHEEDIEMN NEIRT=5H
ITRTOWEIMICTESLEBA
HEIE5 |5RIEIPRSR - 1200 N/mm?

A certain degree of ductility needed,
not recommended for all materials.
Recommended maximum tensile
strength of material is 1200 N/mm?

O BN, LEFWINEA
For both blind and through holes

CoroTap™400
mEIv S
Forming

N




Corolap™

P ZNZTNDWHIM TERED A Z FHE !

For optimized performance in each component material

S w PMDERET
WEIMR T<LE ) . reom

E@I@EI

18-22 12-13 7-12 9-12 A 4

¥,
w2RCE [/ BLDEH

\ S

HULWTENEETBTET | ’

v DifiE=ELE ILWVWA/VU—-TALHEIM DG
New cutting edge treatment prevents ZEIM cOAEZREL |

tap breakage. Rake/relief angle vs. workpiece material

Optimise the angle in each work material

1 ICRE IS A& : P1PM 3¢
#FRCo/\1 A (HSS-E-PM)ICPVD TIiAINI—5F « > J4F(CHI#4(1SO P) ICTHEFEM ZFIEL.
NARI Y TFTOSFETICRVEERINIHTIEE,

HSS-E-PM with PVD TiAIN coating.

Superior wear resistance particularly on steel (ISO P), enabling high speed machining with HSS tap.

CoroChuck® 970

E:\.}EE}IL E% 0) P Jﬁ O 9 v 7_’9 79 Synchro-tap adapters with low resistance and long life

NAo070—-FT4VIICKD. Ty TDEDEEYF DM EA L %2 [EHEICHE
IEU. UJHHESDIBER WD THEWVRA S A NMarE 7z,
RIDMBEPY Y THmZO LESEET,

Micro-floating accurately compensates for minute deviations in the feed and pitch of the
tap. Accurately compensates for the slight misalignment of the feed and pitch of the tap,
reducing the increase in low cutting resistance and extremely high thrust loads.
Improves thread quality and tap life.




CoroTap™ 100 3 X DN

ARNU—R5YT

LF |
HSS-E-PM L
#4100~ 1000N/mm2H &K U'32HRe kTHLGTHa‘ “b»
{71 ¢ e I L * *
S2 M-S MERTTAE ™ 2
f tbcon t
&, mm
Buz{ EZ]
TDXTP LF | THLGTH | THCHT LU | DCON a b F NOF
T100-KM100JA-M3 D140 M3x0.5 46 9 C (2.75P) 18 4.0 3.2 6 X 3
T100-KM100JA-M4 D140 M4x0.7 52 12 C@75P) | 21 5.0 4 7 P 3
T100-KM100JA-M5 D140 M5x0.8 60 13 Cc@75P) | 25 55 45 7 B 4
M T100-KM100JA-M6 D140 M6x1.0 62 15 C(.75P) | 30 6.0 45 7 I 4
T100-KM101JA-M8 D140 M8x1.25 | 70 18 C@75P) | 35 6.2 5 8 N 4
HRUHFR 6H | T100-KM101JA-M10 D140 M10x1.5 75 20 C(@.75P) | 39 7.0 55 8 4
=L T100-KM101JA-M12 D140 M12x1.75 82 23 C (2.75P) 41 8.5 6.5 9 4
T100-KM101JA-M16 D140 M16x2.0 | 95 25 C@.75P) | 475 | 125 10 13 4
T100-KM101JA-M18 D140 M18x2.5 | 100 30 C@75P) | 50 14.0 11 14 4
T100-KM101JA-M20 D140 M20x2.5 | 105 30 C(@.75P) | 525 | 15.0 12 15 4
T100-KM101JA-M24 D140 M24x3.0 | 120 36 C(2.75P) | 60 19.0 15 18 5
T100-KM100JA-M3 D115 M3x0.5 46 9 C@.75P) | 18 4.0 32 6 x 3
T100-KM100JA-M4 D115 M4x0.7 52 12 C (2.75P) 21 5.0 4 7 X 3
T100-KM100JA-M5 D115 M5x0.8 60 13 C@.75P) | 25 55 45 7 X 4
T100-KM100JA-M6 D115 M6x1.0 62 15 C (2.75P) 30 6.0 4.5 7 N 4
M T100-KM101JA-M8 D115 M8x1.25 70 18 C (2.75P) 35 6.2 5 8 /N 4
H UL 6H | T100-KM101JA-M10 D115 M10x1.5 75 20 C@75P) | 39 7.0 55 8 - 4
TIiCN T100-KM101JA-M12 D115 M12x1.75 | 82 23 C@.75P) | 41 8.5 6.5 9 4
T100-KM101JA-M16 D115 M16x2.0 | 95 25 C@75P) | 475 | 125 10 13 4
T100-KM101JA-M18 D115 M18x2.5 | 100 30 C@.75P) | 50 14.0 11 14 4
T100-KM101JA-M20 D115 M20x2.5 105 30 C (2.75P) 52.5 15.0 12 15 4
T100-KM101JA-M24 D115 M24x3.0 | 120 36 C(2.75P) | 60 19.0 15 18 - 5
M T100-KM100JA-M6 D210 M6x1.0 62 15 C (3.0P) 23 6.0 4.5 7 X 5
. T100-KM101JA-M8 D210 M8x1.25 | 70 18 C (3.0P) 35 6.2 5 8 h 5
1 U5k 6H | 1100-KM101JA-M10 D210 Mi0x15 | 75 | 23 | c@op) | 38 | 70 | 55 | 8 * 5
TiAIN T100-KM101JA-M12 D210 M12x1.75 | 82 23 C (3.0P) 41 8.5 6.5 9 - 5
i) - v TRERRORUBEZFRIIT2BDTIEHbFEA

: %D@Tﬁ%ﬁ#ﬁﬁifﬁﬁﬁ?%t&)h CIEAD RS D ILhRLET Bigah BT,




CoroTap™ 200 3 X DN

e e

HSS-E-PM

#HI#4350~1200N/mm28E K U'36HRC

LF

KAy T

-
o -

LU

<—THLGTH—»‘

~b—
.

. ]
10 < FOELVEEIF g ——— -
T ! bcon !
k. mm
B ZELEYY
TDxTP LF | THLGTH| THCHT LU | DCON a b F NOF
T200-PM100JA-M3 P1PM M3x0.5 46 9 B (4.62P) 18 4.0 3.2 6 X 3
M T200-PM100JA-M4 P1PM M4x0.7 52 12 B(4.63P) | 21 5.0 4 7 X 3
T200-PM100JA-M5 P1PM M5x0.8 60 13 B(4.63P) | 25 55 45 7 Js 3
HRUER 6H | T200-PM100JA-M6 P1PM M6x1.0 62 15 B(4.63P) | 30 6.0 45 7 X 3
TiAIN T200-PM101JA-M8 P1PM M8x125 | 70 18 B(4.62P) | 35 6.2 5 8 s 3
T200-PM101JA-M10 P1PM M10x15 | 75 20 B(4.63P) | 375 | 7.0 55 8 X 3
T200-PM101JA-M12 P1PM M12x1.75 82 23 B (4.62P) 41 8.5 6.5 9 - 4
T200-PM101JA-M16 P1PM M16x2.0 | 95 25 B(4.63P) | 53 125 10 13 4
T200-PM101JA-M18 P1PM M18x2.5 | 100 30 B(4.62P) | 50 14.0 11 14 4
T200-PM101JA-M20 P1PM M20x2.5 | 105 30 B(4.62P) | 525 | 15.0 12 15 4
T200-PM101JA-M24 P1PM M24x3.0 | 120 36 B (4.63P) | 60 19.0 15 18 5 4
T200-PM100JB-M4X050 P1PM MF4x05 | 52 12 B (4.62P) | 21 5.0 4 7 X 3
T200-PM100JB-M5X050 P1PM MF5x0.5 52 13 B (4.62P) 25 5.5 45 7 x 3
T200-PM100JB-M6X050 P1PM MF6x0.5 | 62 15 B(4.62P) | 30 6.0 45 7 X 3
T200-PM100JB-M6X075 P1PM MF6x0.75 62 15 B (4.63P) 30 6.0 4.5 7 x 3
MF T200-PM101JB-M8X100 P1PM MF8x1.0 | 70 18 B(4.63P) | 35 6.2 5 8 X 3
$Hia L4y 6H | 1200-PM101JB-M10X100 P1PM MF10x1.0 | 70 20 B(4.63P) | 39 7.0 55 8 F 3
TiAIN T200-PM101JB-M10X125 PIPM | MF10x1.25 | 75 20 B(@4.62P) | 375 | 7.0 55 8 P 3
! T200-PM101JB-M12X100 P1PM MF12x1.0 | 70 21 B(4.63P) | 35 8.5 6.5 9 s 4
T200-PM101JB-M12X125 PIPM | MF12x1.25 | 80 21 B(4.62P) | 40 8.5 6.5 9 4
T200-PM101JB-M12X150 P1PM MF12x1.5 82 21 B (4.63P) 40 8.5 6.5 9 4
T200-PM101JB-M14X150 P1PM MF14x15 | 88 21 B(4.63P) | 49 105 8 11 4
T200-PM101JB-M16X150 P1PM MF16x1.5 95 21 B (4.63P) | 47.5 12.5 10 13 4
T200-PM101JB-M18X150 P1PM MF18x1.5 | 95 24 B(4.63P) | 475 | 14.0 11 14 4
T200-PM101JB-M20X150 P1PM MF20x1.5 | 95 24 B(4.63P) | 475 | 15.0 12 15 4
3 - v TRERRHRUBEERIIT 2HDTIEHDFLEA.

CoroTap™ 200 3 X DN

- ED DALESHWM CRAT 2 EHRUIEAD S TIVHRET DBEHHDET,

avov

v

LF-

ATy T

LU

— THLGTHH‘

| o

HSS-E T4 o
#HI+1350~1200N/mm?s &U'36HRC * fooon
YIb < FORUVEHEIM B .@
TiE. mm
T FELETS
TDxTP LF THLGTH THCHT LU DCON a b F NOF
T200-MM170JA-M3 B145 M3x0.5 100 9 B (4.5P) 18 4.0 3.2 6 X 2
T200-MM170JA-M4 B145 M4x0.7 100 12 B (4.5P) 21 5.0 4 7 x 3
M T200-MM170JA-M5 B145 M5x08 | 100 | 13 | B@SP) | 25 | 55 | 45 | 7 * 3
U)T& b%%& B6H T200-MM170JA-M6 B145 M6x1.0 100 15 B (4.4P) 30 6.0 4.5 7 K 3
B T200-MM182JA-M6 B145 Mx1.0 | 150 | 15 | B@4P) | 30 | 60 | 45 | 7 % 3
RELME  7200-MM171JA-M8 B145 M8x125 | 150 | 18 B@44P) | 75 | 62 5 8 * 3
T200-MM171JA-M10 B145 M10x1.5 150 20 B (4.4P) 39 7.0 55 8 X 3
T200-MM171JA-M12 B145 M12x1.75 150 23 B (4.45P) 41 8.5 6.5 9 - 4
T - 5y TRERDRUBEEFIT 550 TIRBDFt A,

- ED DALESHWM CRAT 2 EHRUIEAD S TIVHRET DBEHHDET,




CoroTap™ 200 3 X DN

LF

KA YvT

LU

S —— W o
WA 350~ 1 200N/mm2a & U36HRC Al | et
1 < FORUVVEHIV A ™ a
T ! DcoN !
&, mm
Bz EZ]
TDxTP LF | THLGTH | THCHT LU | DCON a b F NOF
T200-MM100JA-M3 B145 M3x0.5 46 9 B (4.5P) 18 4.0 3.2 6 X 2
T200-MM100JA-M4 B145 M4x0.7 52 12 B (4.5P) 21 5.0 4 7 P 3
T200-MM100JA-M5 B145 M5x0.8 60 13 B (4.5P) 25 5.5 4.5 7 X 3
M T200-MM100JA-M6 B145 M6x1.0 62 15 B (4.4P) 30 6.0 45 7 X 3
T200-MM101JA-M8 B145 M8x1.25 | 70 18 B (4.4P) 35 6.2 5 8 X 3
$HRUER 6H | T200-MM101JA-M10 B145 M10x1.5 75 20 B@4.5P) | 375 7.0 5.5 8 X 3
NEIE T200-MM101JA-M12 B145 M12x1.75 | 82 23 B(4.45P) | 41 85 6.5 9 2 4
T200-MM101JA-M16 B145 M16x2.0 | 95 25 B(4.45P) | 45 125 10 13 4
T200-MM101JA-M18 B145 M18x2.5 | 100 30 B(4.35P) | 50 14.0 11 14 4
T200-MM101JA-M20 B145 M20x2.5 | 105 30 B(4.35P) | 525 | 15.0 12 15 4
T200-MM101JA-M24 B145 M24x3.0 | 120 36 B(4.35P) | 55 19.0 15 18 5 4
T200-MM100JA-M3 B115 M3x0.5 46 9 B (4.5P) 18 4.0 32 6 S 2
T200-MM100JA-M4 B115 M4x0.7 52 12 B (4.5P) 21 5.0 4 7 J 3
T200-MM100JA-M5 B115 M5x0.8 60 13 B (4.5P) 25 55 45 7 PN 3
T200-MM100JA-M6 B115 M6x1.0 62 15 B (4.4P) 30 6.0 45 7 S 3
M T200-MM101JA-M8 B115 M8x125 | 70 18 B (4.4P) 35 6.2 5 8 P 3
HRUEM 6H | T200-MM101JA-M10 B115 M10x1.5 75 20 B (4.4P) 37.5 7.0 5.5 8 X 3
TiCN T200-MM101JA-M12 B115 M12x1.75 | 82 23 | B(4.45P) | 41 8.5 65 | 9 - 4
T200-MM101JA-M16 B115 M16x2.0 | 95 25 B(4.45P) | 45 125 10 13 4
T200-MM101JA-M18 B115 M18x2.5 | 100 30 B(4.35P) | 50 14.0 11 14 4
T200-MM101JA-M20 B115 M20x2.5 105 30 B (4.35P) 52.5 15.0 12 15 4
T200-MM101JA-M24 B115 M24x3.0 | 120 36 B (4.5P) 55 19.0 15 18 4
&) - Fy TRRERRORUBEZRIET DEDTIFHDFE A,
RO DARLESHEM THERT 2 EHRUILAD MSTIVHRET DHEENHBDFT,
~
CoroTap™ 200 2 X DN RAVYYT
LF ‘
HSS-E-PM HTHLGTL:H - b—|
H #4141 700~1400N/mm>2a5 & U'44HRC n | ar
§10 < ORI R
f tbcon t
&, mm
i =LY
TDxTP LF | THLGTH | THCHT LU | DCON a b F NOF
T200-SD100JA-M3 D150 M3x0.5 46 10 B (4.5P) 23 4.0 3.2 6 I 2
T200-SD100JA-M4 D150 M4x0.7 52 13 B@4.63P) | 26 5.0 4 7 X 3
M T200-SD100JA-M5 D150 M5x0.8 60 16 B(4.63P) | 196 | 55 45 7 X 3
R UEHR 6H | T200-SD100JA-M6 D150 M6x1.0 62 15 B(@4.63P) | 23 6.0 45 7 *x 3
J—F 451U | T200-SD101JA-M8 D150 M8x125 | 70 18 B(4.62P) | 35 6.2 5 8 I 3
T200-SD101JA-M10 D150 M10x15 | 75 20 B(4.63P) | 33 7.0 55 8 P 3
T200-SD101JA-M12 D150 M12x1.75 | 82 23 B(4.62P) | 35 8.5 6.5 9 5 4
T200-SD100JA-M3 D115 M3x0.5 46 10 B (4.5P) 23 4.0 3.2 6 X 2
T200-SD100JA-M4 D115 M4x0.7 52 13 B(4.63P) | 26 5.0 4 7 X 3
M T200-SD100JA-M5 D115 M5x0.8 60 16 B@4.63P) | 196 | 55 45 7 PN 3
$HLZLR 6H | T200-SD100JA-M6 D115 M6x1.0 62 15 B(4.63P) | 23 6.0 45 7 J 3
TiCN T200-SD101JA-M8 D115 M8x125 | 70 18 B(4.62P) | 35 6.2 5 8 P 3
T200-SD101JA-M10 D115 M10x15 | 75 20 B(4.63P) | 33 7.0 55 8 S 3
T200-SD101JA-M12 D115 M12x1.75 | 82 23 B(4.62P) | 35 8.5 6.5 9 - 4
i) - v THREIRDRUBEERIET 2BDTIFHDFEA.

- ED DAL EFEM CRAY 2 EHRUIAD S TILHRET DIEENHDET,




IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII!!l!I!!l!!!!!lIIIIIIII

CoroTap™ 300 2.5 X DN

AINLSILIYT

LF

LU

HSS-E-PM , <THLGTH" ~b~]
MRS ——— 0501 coON/mmEB R UEBHRC A N
10 < FOELVEHIFFA o R —— -
T t Dcon t
iE. mm
B ZHLEYS
TDXTP LF |THLGTH| THCHT | LU | DCON | a b F NOF
T300-PM100JA-M3 P1PM M3x05 | 46 B Cr7er) | 18 40 32 6 3
M T300-PM100JA-M4 P1PM M4x0.7 52 7 C (2.74P) 21 5.0 4 7 3
T300-PM100JA-M5 P1PM M5x0.8 | 60 8 C@75P) | 25 55 45 | 7 3
HRUER 6H | T300-PM100JA-M6 P1PM M6x1.0 62 10 C@.75P) | 30 6.0 45 7 3
TiAIN T300-PM101JA-M8 P1PM M8x1.25 | 70 12 | c@7sP) | 37 6.2 5 8 3
T300-PM101JA-M10 P1PM M10x1.5 75 15 C (2.75P) 39 7.0 55 8 3
T300-PM101JA-M12 P1PM Mi2x1.75 | 82 16 | C@75P) | 41 8.5 65 | 9 3
T300-PM101JA-M16 P1PM M16x2.0 95 20 C (2.75P) 53 12.5 10 13 4
T300-PM101JA-M18 P1PM M18x2.5 | 100 25 | ce7sP) | s6 | 140 11 14 4
T300-PM101JA-M20 P1PM M20x2.5 105 25 C (2.75P) 52.5 15.0 12 15 4
T300-PM101JA-M24 P1PM M24x3.0 | 120 30 | ce7sp) | e0 | 19.0 15 | 18 4
T300-PM100JB-M4X050 P1PM MF4x05 | 52 7 C@76P) | 21 5.0 4 7 3
T300-PM100JB-M5X050 P1PM MF5x0.5 | 52 8 C@76P) | 25 55 45 | 7 3
T300-PM100JB-M6X050 P1PM MF6x0.5 62 10 C (2.76P) 30 6.0 4.5 7 3
T300-PM100JB-M6X075 P1PM MF6x0.75 | 62 10 | cesp) | 30 6.0 45 | 7 3
MF T300-PM101JB-M8X100 P1PM MF8x1.0 70 12 C (2.75P) 37 6.2 5 8 3
' T300-PM101JB-M10X100 PIPM | MF10x1.0 | 70 12 | cesp) | 39 7.0 55 | 8 3
1 UFER 6H | T300-PM101JB-M10X125 PIPM | MF10x1.25 | 75 15 | C(2.75P) | 39 7.0 55 8 3
TiAIN T300-PM101JB-M12X100 PIPM | MFi2x1.0 | 70 13 | ceP) | 35 8.5 65 | 9 3
T300-PM101JB-M12X125 PIPM | MF12x1.25 | 80 13 | C@.75P) | 40 8.5 65 | 9 3
T300-PM101JB-M12X150 PIPM | MFi2x15 | 82 13 | c@75P) | 40 8.5 65 | 9 3
T300-PM101JB-M14X150 P1PM MF14x1.5 88 15 C (2.75P) 49 10.5 8 11 3
T300-PM101JB-M16X150 PIPM | MFi6x15 | 95 15 | c@7sp) | 475 | 125 10 | 13 4
T300-PM101JB-M18X150 P1PM MF18x1.5 95 17 C (2.75P) 47.5 14.0 11 14 4
T300-PM101JB-M20X150 PAPM | MF20x15 | 95 17| cesp) | 475 | 150 12 | 15 4
H) - 9y ITRERSRUBEEFIT 260 TEHD EL A,

CoroTap™ 300 2.5 X DN

SN —————— =

HSS-E

#HHI# 350~ 1200N/mmPdE K U'36HRC 7

- ED DALESHWM CRAT 2 EHRUIEAD S TIVHRET DBEHHDET,

Ovovvo RAINASILEvT

TD

=

LF-
LU
-~ THLGTH—~ ‘

t bcon

i
a
R

UI1b < FORVEHEIM B .@
&, mm
B ZHLEYS
TDxTP LF THLGTH THCHT LU DCON a b F NOF
T300-MM170JA-M3 B145 M3x0.5 100 6 C (2.26P) 18 4.0 3.2 6 2
T300-MM170JA-M4 B145 M4x0.7 100 7 C (2.26P) 21 5.0 4 7 3
M T300-MM170JA-M5 B145 M5x0.8 100 8 C (2.25P) 25 515) 4.5 7 3
Hia b%’f‘& 6H T300-MM170JA-M6 B145 M6x1.0 100 10 C (2.25P) 30 6.0 4.5 7 3
iy T300-MM150JA-M6 B145 M6x1.0 | 150 | 10 | C225P) | 30 | 60 | 45 | 7 3
RELE  7300-MM171JA-M8 B145 M8x125 | 150 | 12 | C(225P) | 35 | 6.2 5 8 3
T300-MM171JA-M10 B145 M10x1.5 | 150 | 15 | C25p) | 39 | 70 | 55 | 8 3
T300-MM171JA-M12 B145 M12x1.75 150 16 C (2.25P) 41 8.5 6.5 9 4
F) - 5y TREEDRUBEERET 250 T35 Ft A,

- ED DAREISHW CRAT 2 EHRUIERD S TIVHRET DBEHHDE T,




CoroTap™ 300 2.5 X DN

M-

HSS-E

#HI44350~1200N/mm28E K U'36HRC

AINALSILIvT

LF

LU

<THLGTH>‘

~b~

b < FORUVHEHEIM B gm%
T t bcon !
&, mm
B ZELEYS
TDxTP LF | THLGTH | THCHT LU | DCON a b F NOF
T300-MM100JA-M3 B145 M3x0.5 46 6 C (2.26P) 18 4.0 3.2 6 3
T300-MM100JA-M4 B145 M4x0.7 52 7 C(2.26P) | 21 5.0 4 7 3
T300-MM100JA-M5 B145 M5x0.8 60 8 C25P) | 25 55 45 7 3
M T300-MM100JA-M6 B145 M6x1.0 62 10 C(2.25P) | 30 6.0 45 7 3
T300-MM101JA-M8 B145 M8x125 | 70 13 C(25P) | 35 6.2 5 8 3
$HRUER 6H | T300-MM101JA-M10 B145 M10x1.5 75 15 C(.25P) | 39 7.0 5.5 8 3
INELE T300-MM101JA-M12 B145 M12x1.75 | 82 16 C (2.25P) 41 8.5 6.5 9 3
T300-MM101JA-M16 B145 M16x2.0 | 95 20 C(@.25P) | 53 125 10 13 4
T300-MM101JA-M18 B145 M18x2.5 | 100 25 C(25P) | 56 14.0 11 14 4
T300-MM101JA-M20 B145 M20x2.5 | 105 25 C(2.25P) | 525 | 15.0 12 15 4
T300-MM101JA-M24 B145 M24x3.0 | 120 30 C(2.25P) | 60 19.0 15 18 4
T300-MM100JA-M3 B115 M3x0.5 46 6 C(2.26P) | 18 4.0 32 6 3
T300-MM100JA-M4 B115 M4x0.7 52 7 C (2.26P) 21 5.0 4 7 3
T300-MM100JA-M5 B115 M5x0.8 60 8 C(.25P) | 25 55 45 7 3
T300-MM100JA-M6 B115 M6x1.0 62 10 C(2.25P) | 30 6.0 45 7 3
MF T300-MM101JA-M8 B115 M8x1.25 | 70 13 | C(.25P) | 35 | 62 5 8 3
HRLELR 6H | T300-MM101JA-M10 B115 M10x1.5 75 15 C(.25P) | 39 7.0 5.5 8 3
TiCN T300-MM101JA-M12 B115 M12x1.75 | 82 16 C(2.25P) | 41 8.5 6.5 9 3
T300-MM101JA-M16 B115 M16x2.0 | 95 20 C25P) | 53 125 10 13 4
T300-MM101JA-M18 B115 M18x2.5 | 100 25 C(2.25P) | 56 14.0 11 14 4
T300-MM101JA-M20 B115 M20x2.5 105 25 C (2.25P) 52.5 15.0 12 15 4
T300-MM101JA-M24 B115 M24x3.0 | 120 30 C(2.25P) | 60 19.0 15 18 4
&) - F Y THRERRORUEEZRIET HEDTIFHDFE A,
RO DARLESHEM CTHERT 2 EHRUILAD MSTIVHRET DHEENHBDFT,
o —
CoroTap™ 300 1.5 X DN AINALSIVE YT
HSS-E-PM T
P A RN/ : 25 RTHLGTHA»‘ b
S S —il K700~ 1 400N/mmEB & U 44HRC ER— L
10 < FORVEHEINF > N : -
t DCON
&, mm
S ZELEYS
TDxTP LF | THLGTH | THCHT LU | DCON a b F NOF
T300-SD150JA-M3 D150 M3x0.5 46 10 C76P) | 23 4.0 3.2 6 3
T300-SD150JA-M4 D150 M4x0.7 52 13 C(@.74P) | 26 5.0 4 7 3
M T300-SD150JA-M5 D150 M5x0.8 60 16 C@75P) | 30 55 45 7 3
$HUEHR 6H | T300-SD150JA-M6 D150 M6x1.0 62 15 C@75P) | 23 6.0 45 7 3
O—5 ¢4 | T300-SD151JA-M8 D150 M8x1.25 | 70 18 | c@75P) | 35 6.0 45 | 7 3
T300-SD151JA-M10 D150 M10x15 | 75 20 C@.75P) | 33 6.2 5 8 4
T300-SD151JA-M12 D150 M12x1.75 82 23 C (2.75P) 35 7.0 5.5 8 4
i) - Yy THREIRRONRUBEZRIET 20D TIFHDFEEA.

- ED DAL EFEM CTRAT D EHRUIAD S TILHRET DIEEHHDET,




CoroTap™ 300 2 X DN

AINALSILIvT

HSS-E-PM LF }
RUNAE: 15 . ]
T ] e e 5 #MI41 700~ 1 400N/mm28 & U 44HRc A | ‘ ‘
Y10 < FORVEEIM A TD i e —e ]
T 'bcon !
&, mm
Ll ES %]
TDxTP LF |THLGTH| THCHT | LU | DCON a b F NOF
T300-SD100JA-M3 D150 M3x0.5 46 10 C (2.76P) - 4.0 3.2 6 3
T300-SD100JA-M4 D150 M4x0.7 52 13 C (2.74P) - 5.0 4 7 3
M T300-SD100JA-M5 D150 M5x0.8 60 16 C (2.75P) - 55 45 7 3
HUERK 6H | T300-SD100JA-M6 D150 M6x1.0 62 15 C (2.75P) 23 6.0 45 7 3
J—35 ¢ 51| | 7300-SD101JA-M8 D150 M8x1.25 | 70 18 C (2.75P) 2 6.0 45 7 3
T300-SD101JA-M10 D150 M10x1.5 75 20 C (2.75P) 33 6.2 5 8 3
T300-SD101JA-M12 D150 M12x1.75 82 23 C (2.75P) 35 7.0 5.5 8 4
3 - v TREIRDRUBEERIT2BDTIFHDFEA.

CoroTap™ 400 3.5 X DN

HSS-E

XD DAL EIFEM CRAY 2 EHRUIAD S TILHRET DIEEHHDET .

#HI#200~1200N/mm2d K U'36HRC

BEmEY YT

LF ‘
—U—-
-—THLGTH——‘ ‘ b~
+ L

0 i —— ] 5

[ t
DCON

BIMIN|s

&, mm
B zELEVS
TDxTP LF | THLGTH | THCHT LU | DCON a b F NOF
T400-XM150JA-M3 B125 M3x0.5 46 9 C (3.0P) 18 4.0 32 6 X 4
T400-XM150JA-M4 B125 M4x0.7 52 12 C (3.0P) 21 5.0 4 7 X 5
M T400-XM150JA-M5 B125 M5x0.8 60 13 C (3.0P) 25 55 45 7 X 5
HRAUER 6H | T400-XM150JA-M6 B125 M6x1.0 62 15 C (3.0P) 30 6.0 45 7 * 5
TiN T400-XM150JA-M8 B125 M8x1.25 70 18 C (3.0P) 35 6.0 4.5 7 x )
T400-XM151JA-M10 B125 M10x1.5 75 20 C (3.0P) 39 6.2 5 8 x 5
T400-XM151JA-M12 B125 M12x1.75 | 82 23 C (3.0P) 43 7.0 5.5 8 5 5
*) - Yy ITRERRHRUBEZRIT 20DTIEHDFEA.

- ED DALEIFEM CRAT 2 EHRUIAD S TILHRET DEEHHD T,




Corolap™

» CoroTap™ JIS #EE24HEISE4

Y&y 7 TA=3IVT4y7
A—7«>P | A—F«a>Y | A—FT4V7
2] AN [ES NS
R
i
=
ISO HIA HB N/mm® | Ve. (m/min) | Ve, (m/min) | Vc. (m/min)
C=0.25% BEEREL 125 428 15 70 30
C>0.25..0.55% BEEREL 190 639 15 70 30
A €>0.25..0.55% BEAN 210 708 12,5 70 25
C>0.55 BEEREL 190 639 15 60 30
C>0.55 BEAN 300 1013 7.5 60 15
s ()\1n<d) BEEREL 220 745 15 60 30
BEEREL 175 591 15 50 30
o wEAN 300 1013 7.5 50 15
EoaN BEEAN 380 1282 4 50
HEEAN 430 1477 2 50
BEREL 200 675 15 30 30
o EoP =0 M=K BREWVNELVBEEREL 300 1013 7.5 30 15
BEWNRLOBEEZRL 400 1361 3 20
TR/ NIVTUHA MR BEERFEL 200 675 5 10 10
NILTFVHA R BEERL 330 1114 2 4 4
M| x5~ L 2R A—RTFA R BEEAN 200 675 5 10 10
A—=RFFA R B (PH) 300 1013 3 6 6
A—RFFARR/ 7271 bR ZHE%R 230 778 4 8 8
PELEANA 200 675 15 30 30
TosER NR—F1 % 260 867 10 20
. B3 13REE 180 602 20 30
R B SHE S - Vi Sl 245 825 7.5 15
PELEANA 155 518 15 30 30
RRMIMTHR NK=F1 +% 265 885 10 20
CGl 200 675 10 20
- FERESIAEAL, 30 - 10 15 15
7 2tE (FIE) BAEL. BELEA 100 343 15 25 25
<12% Si. FHELARAT 75 260 15 20 20
TILIEE () <12% Si. HrfEL TR AT E A 90 314 15 30 30
N >12% Si. HrHELRR] 130 447 10 15
e SVIN-- 70 250 20 30
Fod BHEN 100 343 5 12,5 12,5
FRLVEES Hik. S, FHE 90 314 25 40 40
(B EiR) HEE. BWINCT 110 382 20 35
EaE. 77104 46% 300 1013 25 5
. BEEREL 200 675 5 75 7.5
A 1B 280 943 25 5 5
MREE S BREREL 250 839 25 4 4
UL A= 2 - it 350 1177 15 2 2
S & 320 1076 2 3 3
WFy 200 675 75 75 75
FEVESE a and BE®E. HTHEL 375 1262 5 7.5 7.5
BEa® 410 1396 2 3 3
IUTAT VAR 300 1013 25 5
TUTFUAS 300 1013 5 75
o] BRI RS MEEERZL 20 20
Y—FEEvh MEEEAIL L 10 10
o TSRF VY, @I SAT7A)\— GFRP 25 5
TSAF VY, BEH—RY T 7A)\— CFRP 25 5
TI2AF VI BT ZIR T 7A)\— AFRP 25 5
o774 (EER) 65 15 15

W{JEIEE  VC-

WE & N

7T xDCxN
1000 (m/min)

_ VCx1000
xDC  (min™)



Corolap™

» CoroTap™ JIS tIHIS v T FIUE

M 1SOxX— NLEEERU MF 1sOx—hILiIERU

EvF FFUR BOEDRUBHAZE* FFUR BORORU7HAE

RLYAX 8\ Bx RUYAX i Bx

mm mm mm mm mm
M3 0.50 2.50 2.459 2.599 M4x0.5 3.50 3.459 3.599
M4 0.70 3.30 3.242 3.422 M5x0.5 4.50 4.459 4.599
M5 0.80 4.20 4134 4.334 M6x0.75 5.25 5.188 5.378
M6 1.00 5.00 4917 5.153 M8x1 7.00 6.917 7.153
M8 1.25 6.80 6.647 6.912 M10x1 9.00 8.917 9.153
M10 1.50 8.50 8.376 8.676 M10x1.25 8.75 8.647 8.912
M12 1.75 10.20 10.106 10.441 M12x1 11.00 10.917 11.153
M16 2.00 14.00 13.835 14.210 M12x1.25 10.75 10.647 10.912
M18 2.50 15.50 15.294 15.744 M12x1.5 10.50 10.376 10.676
M20 2.50 17.50 17.294 17.744 M14x1.5 12.50 12.376 12.676
M22 2.50 19.50 19.294 19.744 M16x1.5 14.50 14.376 14.676
M24 3.00 21.00 20.752 21.252 M18x1.5 16.50 16.376 16.676
M20x1.5 18.50 18.376 18.676

» CoroTap™ JIS Em& 5 v IR
M ISOX—RILEEBRU

EvF U
fRALYAX
mm
M3 0.50 2.80
M4 0.70 3.70
M5 0.80 4.65
M6 1.00 5.55
M8 1.25 7.40
M10 1.50 9.30
M12 1.75 11.20
MTSHE (FEASERESm) ITEE CHESRER)
A/ A VEN =22 KiEH 7 = J:iAvyFRAyK Al N - 3
#% #l #f : SS400 f Uf# : M6X1.0 FX15mm #% Hl #f : SCM435(HB269-300) FAE R U - M12x1.25 FEX13mm
- B e iy ] I :42v7400R/7—7 oMWY= Tt 4BT40
fbtt SR CoroTap™T300 CoroTap™300 CoroTap™T300
I8 | A%t T300-PM101JA-M6 P1PM I8 : EX1CPJ2-M12X1.25 (HSS-E+TiN) T300-PM101 JB-M12X125 P1PM
YIHIERE V¢ (m/min) 17 20 WE!EE Ve (m/min) 4 20
My 1. 1. n (mm/r) HE :
l_i_};”}:/"g:;) ) . 37(:) | 360 F—=T7IVEY vi (mm/min) * 132 662
z vt (mm/min) ' ‘ T (mm) £1,300 2,600
& () $200 200 &0 £100 200
EEN +186% A REM +400%

FEER2.91E! IV TH Ry TICEZADTIIITREF Fin2{2! £EMESHE!
HTHG| (EEFUEREEHE) M)
7 — 77— #w WY = Jtr4BT30 7 — U aA—-4—%BEEHS W WY = Tt 4BT50

#wEl M TUN—FE J—=S2 b SEREHE. TYYar O M A—RFFANRTULRE 7—F 2 b SRR,
(GO40F) HRc40 B ULH : M6X1.0 F&E13mm (SUS304) M1.0.Z.AQ fa U4 : M5X0.8 HF&E8mm
CoroTap™T300 jlkee=20 CoroTap™T300
IE : T300-PM100JA-M6 P1PM IE 1Bt T300-PM100JA-M5 P1PM
YIHIEE Ve (m/min) 3 30 YIHIEE Ve (m/min) :5 25
BEIEE n (rpm) : 1,592 BEIEH n (pm) 1 320 1,600
\ . 3&4) £, (mm/r) 108 0.8
3 : 1. n
2 fy (v _ _ 0 F—T LB v (mm/min) : 256 1,280
F—J IV Vi (mm/min) : 1,592 .
A . MMIE m) 18 32
() : 3.024 F ) £1,000 4,000
M +400%

HRc40TYI4IEE~E30m/min. TE&F&#40m! SEMSE FndE!




»i1iE
P1PM 3] D210

WARCo/N1 A (HSS-E-PM)ICPVD TiAINI—F 1 V5 MFRCo/\ 1 A(HSS-E-PM)ICPVD TiAINO—F 1 VT
FHTHHM (SO P)ICTHEEREMZREL. NARIvT FHCHERX (SO K) [CTIEEFE Z FeE
TOSFETICRVLEERIIIHTIHE, HSS-E-PM with PVD TiAIN coating.

HSS-E-PM with PVD TiAIN coating. Superior wear resistance particularly on cast iron (ISO K).

Superior wear resistance particularly on steel (ISO P),
enabling high speed machining with HSS tap.

D115 B115

WFRCo/\ 1 ZA(HSS-E-PM)ICPVD TICNOI—F 5 Co/\1 A(HSS-E)ICPVD TiICNOd—F 7
HSS-E-PM with PVD TiCN coating. HSS-E with PVD TiCN coating.

D140 B125

MARCo/\ A A (HSS-E-PM) [T =1L ILIE Co/\A A(HSS-E)ICPVD TiINO—=F 1 7
HSS-E-PM with nitride treat HSS-E with PVD TiN coating.

D150 B145

MARCo/NA A(HSS-E-PM)ICO—F 1 VTR L Co/\A A(HSS-E) [CiREIE

HSS-E-PM, uncoated HSS-E with Steam tempered.

} 9 ‘yjoggﬁd)ﬁ.jj_ Explanation of product code

3. HUIQEE Level of material
E - 5 Easy

M -t Medium
D - B Difficult ‘ 8. 1% crade

17300 |-|P|M|101| J||A|-| M10 |P1PM

5 6

7. 13‘42‘ Dimension

| 6. 13L;ﬁ21k Thread form
1

5. *E*ﬁ Standard
1. 2’09 T8 T7=U— Product family D-DIN
T100 - RRU—R 9w A - ANSI & DIN/ANSI
T200 - RA VIV J-JIs
T300 - RINASLIvT 2. ISO #%Hl#4 150 material | 4. F->//X— Number
T400 - EHEIv S B Different for:
|, AL—byv o reinforced or straight shank
BULDOEER tIEIHEE different chamfer, tool, coolant, etc...

=EGMF
=EGUNC
= EGUNF
=PG

=R

=Rc

=Rp

=BA

= EGUNJF

N<X<CHOITIOUVOZZIr"A“"IOTMMUOUO®
1)
pd
T
[}
m

L2(CDONT Zai—AlLa— EEEEHR!
O DY TIBBERF CHSHTIEEL),  ORERAORBRTOERL, TERRE RO FoTIEEL, FUREER. L1 o RS OS
OSEDTIN THTEUID, BE<BUT TN FHHEENBT EHB0ET . B2 — PREDIIEE DRESEHERL T, BCHEULET. o FEy s anw oD — L
OV ERT BRI I EL AT, @FyTOBRAOBA & HEOLYF PR ARV TRRCEONITLEEN, | | oo o o< ran,

TEL:052-456-4465 E-mail: jp.coromant@sandvik.com

SANDVIK

H#UREv/7#%RNE aOv hh/NZ—

https://www.sandvik.coromant.com

VEGETABLE
CD-063J 22.12 3M® @WK BEICEBL, COHIOT CREMHA A EBALTHIET. RNRBICEIHREFEECEETEER65YET.



